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	First attempt
	Redo

	1
	The answer is Unsatisfactory.  The candidate has not explained that on maturity reinvestment is at the prevailing rate or if the saver has the investment returned they will be given the  interest that was defined when they took out the Savings Certificate
	The candidate has added in enough information for their answer to be Satisfactory.

	2
	The answer is Unsatisfactory.  The candidate only explained the first option, all the rest is a list only.
	The candidate has added in enough information for their answer to be Satisfactory.

	3
	The answer is Unsatisfactory.  The candidate probably knows the features of the defined benefit scheme but their English has let them down.  There is not enough clear explanation of the facts to enable the candidate to be classed as satisfactory with this answer.
	Although the English is still poor, the candidate has done just enough for their answer to be Satisfactory.

	4a
	The answer is Unsatisfactory because it is factually incorrect.
	Although the candidate has been vague their response is Satisfactory as it shows that they understand that there is a need for the adviser to work with a large number of providers otherwise they are a restricted adviser. 

	4b
	The answer Unsatisfactory because it is too vague – there is no coverage that the investor has to have an understanding about products or risk.
	By talking about risk, the candidate has added in more information however the explanation is not covering all the points and is still Unsatisfactory as a result. However taking 4a and 4b together and looking at the Unit Specification, the candidate has met the evidence requirements (Explain the designations used to describe a party in a regulated transaction) because 4a is correct. 

	5
	The answer is Unsatisfactory because the candidate’s answer is based on the old compensation rates.
	The correction has been made, the candidate is working with the current rates of compensation so the response is Satisfactory.

	6
	The answer in Unsatisfactory because the candidate has the method wrong.  When closing out they did not use the spot rate, they took the spot rate and adjusted it by the three month forward discount.  It is interesting that they somehow managed to still have the correct answer.
This highlights the dangers of just looking at a calculation solution only during the assessment process.
	In the redo the candidate has made two arithmetic errors and so according to the assessment scheme be Unsatisfactory.  However, this is a situation where professional judgement should lead the assessor/verifier to the decision to mark the answer as Satisfactory.  There is one error relating to the use of the decimal point.  The second is a transposition of numbers as the student copies down from the row above, something that can happen under.

	7
	The answer is Satisfactory though not necessarily well written.  There is one example given for both the exporter and the importer.
	



Assessment Workshop Financial Services 	Solution NOT IN PACK

